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MODEL TEST ONE

Part [ Listening Comprchension (20 minutes)

Section A
Directions ; In Uas section, you will hear 10 shorl conversalums. Al the
end of each conversalion, a queston wil be asked aboul what
was saul. The conversalion and the quesstion will be spoken
only once. Afta each question there will be a pause. During
the pause , you must read the four chowes A),B),C) and
D), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheel wih a single lme
tlrough the cenire.
Example . You wil hear .
You will read .
A) At the office.
B) In the waiting room.
C) At the airport.
D) In a restaurant.

Sample Answer [A ][B][C][D]

From the conversation we know thal the lwo were lalking aboul
some work they have lo fuesh wn the evenng. Tlus w most lke-
ly lo have laken place al e of fwe. Therefore. A) “Al e of-

Jice" is Ue best answer. You should choose answer [ A7 on lhe

|



Answer Sheel and mark & with a swgle line Uarrough lthe cen-

tre.
. A) Mrs. Pond C) Mrs. Bond
B) Miss Pond D) Miss Bond
. A) He is sick. C) He is fine.
B) He is confused. D) He is happy.

. A) At the book store. C) At the restaurant.
B) At the post office. D) At the doctor’ s office.
. A) Patient and doctor.
B) Manager and secretary.
C) Teacher and student.
D) Husband and wife.
. A) Prof. Jones lives there alone.
B) Prof. Jones lives with his sister.
C) Prof. Jones lives with his sister’ s daughter.
D) Prof. Jones lives with his sister and niece.
. A) The man is 50 years old.
B) The woman is 50 years old.
C) Both of them are 50 years old.
D) Neither of them has reached 50.
. A) $0.95 C) $1.95
B). $3.29 D) $0.29
. A) She can only use it in the library.
B) She is welcome to use it.
C) She gets one for herself.
D) She can check one out.
2



9. A) It' s foolish to spend too much money on clothes.
B) The woman fashion changes slowly.
C) The woman fashion is silly.
D) The style changes very often.
10. A) Tom is unable to hear well.
B) Tom didn' t say anything at the meeting.
C) Tom doesn’ t listen to him.

D) Tom went out before the meeting was over.

Section B

Directions ; In this sectwm ,you willl hear 3 short passages. Al the end of

each passage , you wdl hear some questums. DBolh the passage

and the questons will be spoken only once.  After you hear one

questuwm ,  you must choose lhe best answer  from lhe  four

cloiwces marked A) B), C), and D). Then mark the corre-

spondmg leller on the Answer Sheel with a single line Urough

the cenlre.

Passage |

Questions || to 13 are based on the passage you have just heard.

11. A) Clothes B) Shoes. C) Boots. D) Both B and C.

12. A) Not very successful. C) Successful.
B) Not successful at all. D) None of the above.
13. A) " don’ t need the shoes”.

B) “Good-bye”



C) “Would you like a bag to put your dld shoes in?”
D) “I don’t need a bag.”

Passage 2
Questions 14 to 17 are based on the passage you have just heard.
14. A) To get his money back.
B) To put a $ 100 bill in the safe (£ & £1).
C) To ask to be a desk clerk.
D) To stay for the night.
15. A) He knew the lawyer’ s plan very well.
B) He found the lawyer tricking him.
C) He didn' t want to get into trouble with the police.
D) He wanted to give the man a surprise.
16. A) He was dishonest.
B) He was ready to help.
C) He was afraid of the lawyer.
D) He was foolish.
17. A) The man didn’ t get his 200 dollars back.
B) The lawyer was happy that the man got both his bills
back.
C) The lawyer asked for 100 dollars.

D) The man thanked the lawyer by paying him some money.

Passage 3
Questions 18 to 20 are bassed on the passage you have just
heard.

A



18. A) A nurse. C) An adult stranger.
B) Another baby. D) Young children.
19. A) He recommends babysitters.
B) He writes baby books.
C) He conducts studies on babies.
D) He directs a testing center.
20. A) Find a private home with other babies.
B) Take their babies with them to work.
C) Hire an adult to come into the home.
D) Search for a large nursery (3G JLJf) with a good reputa-

tion.

Part I Reading Comprehension (35 minutes)

Dirsctions ; There are 4 passages w lhis part. Luch passage s followed by
some questons or unfushed statewents.  For each of hem
there are four chowes marked A),B),C)and D). You should
decude on lhe best clowe and mark the corresponding leller on

the Answer Sheel wih a swgle line through the centre.

Questions 21 to 25 are based on the following passage .

Most people read short stories. Magazines, newspapers, and
books, printed in millions of copies every month, regularly supply
the demand for short fiction. In the United States today the short

story is overwhelmingly (He{#]¥£Hb) the most popular of current

literature.



Perhaps it is the modern manner of living that insistently de-
mands that all current fiction be short. Automobiles, jet planes,
telephones, and telegraphs all bow at the altar (£21Z) of speed.
And litc;\raruiré shares its place in the favor of the crowd with a-
muscments undreamed of a hundred years ago. The time for
lei$uré1y réa&ﬁng of ten v;):lhu'rr‘l; novels appears to have bassed with
the horse and buggy ({8 I; %) and the pony express (‘P I 3
ﬁ) The fiction readers demand a literary form that suits their
moods and habits. Long iniroductions, leisurely discourses G
on philosophy, and dé;aﬂe;l deécriptfve passages become the special
joy of a particular kind of reader, whereas the crowd chooses the
short story. Small wonder, then, that many writers have turned

their talents to the short story.

21. Americans today have less time to spend on reading because
they
A) work long hours
B)_’ rgpend most of their time traveling
QS spend a lot of time. on the telephone
’/D) have more diversions from which to choose 7-
22. According to the passage, short stories are popular in that
U. S. today primarily because they
A) can be purchased on planes
B) are in abuf‘itl;m supply
C) appear in popular magazines and newspapers

D) are well suited to a fast pace of living



23.The author of this passage implies that the horse and buggy is
no longer popular means of transportation because
A) there are fewer horses today
B) its too long to travel that way
) automobiles make the streets dangerous for horses
D) it is more expensive than driving a car
24. It can be inferred from the passage that authors might choose

to write short stories besause the short stories would

A) increase the authors’ popularity
B) have a wider potential readership
C) earn more money than a novel
D) take less time to write than a novel
25. The reason given in this passpage for the popularity of the
short story could be used to explain the popularity of

A) television C) the theater

B) the movies D) the circus

Qrestions 26 to 30 are based on the following passage .

The texture (#J ) of the soil depends on the relative
amounts of differentsized particles that combine to make up the
soil. These particles can be as large as stone and gravel (B H ) or
as small as clay.

A typical clay soil is composed of approximately 60 percent
actual clay, 20 percent silt (JR ), and 20 percent sand. The.
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particles in a clay soil are so fine that it tends to be compact and
interferes with the oxygen supply for plant roois. Water has trou-
ble entering this impervious (A B 3 9 )soil. and runoff (i [
#i7K) is very common during rainfalls.

A typical light sandy soil is composed of approximately 70
percent sand, 20 percent silt,and 10 percent clay. The particles in
a sandy soil are comparatively large, permitting water to enter the
soil and to pass through it so quickly that it often carries nutrients
CEF=%)) with it and dries out very rapidly. The texture of sandy
soils is generally very difficult to modify because huge amounts of
orgamc material must be added. A typical loam (' +-) soil is
composed of approximately 40 percent sand, 40 percent silt, and
20 percent clay, making it an idea garden soil. It is easily worked
and retains water and nutrients, which are slowly absorbed by
plant roots.

A typical adobe (F&IT) soil is a clay soil present in hot, dry
areas of the country and is often very hard and cracked. It has all
the disadvantages of a heavy clay soil and, being much drier, is

more difficult to correct.

26. What is the author’ s main purpose in the passage?
A) To tell gardeners how to modify their soil.
B) To classify soil types on the basis of their composition.
C) To illustrate the effects of soil type on plant growth.

D) To show how water is absorbed by different soil parti-



cles. 3
27. In the second paragraph, the author describes the pérticles in
clay soil as “fine”to indicate that they are
A) small in size C) free from impurity
B) high in quality = D) delicate in shape
28. It can be inferred from the passage that the most distinguishing
characteristic of adobe soil is
A) its color
B) the texture of its surface
C) the size of the soil particles
D) the number of nutrients present
29. According to the passage, the texture of sandy soil can be im-
proved by mixing in
A) water C) chemicql nutrients
B) gravel D) or?gmfic‘indterial
30. According to the passage, which type of soil has an even bal-
ance between its two principal components?

A) Clay B) Sandy C) Loam D) Gravel

Questions 31 to 35 are based on the following passage .

A hearing test that analyzes brain waves for subconscious re-
sponses to sound has recently been devised by a team of specialists
at the University of Iowa. Instead of depending on the patient to
indicate when he hears a laboratory-controlled noise, as in the tra-
ditional form of testing, this new method, called electric response
audiometry (¥l UF A%) ,enables audiologists to trace the noise’ s path

9



directly frcm the ear to the brain while the patient relaxes or sleep-
s. Although brain responses have been used in other auditory (If
W ) tests for some time, the University of Iowa specialists are
the only scientists to date who analyze simultaneously ([5] [} ) three
components of hearing —the responses of the middle ear, the audi-
tory nerve, and the brain stem. This information helps to indenti-
fy the precise location of a hearing problem and, at the same time,
to measure its severity. While electric response audiometry is not
meant to replace conventional means of testing, it is especially ef-
fective in diagnosing hearing problems in very young children,
multiply handicapped ( % F#3% % ) individuals, and psycho-
logically disturbed persons because it does not require the patient’ s

active participation.

31. Electric response audiometry differs from conventional hearing
tests in that it
A)requires the patient to signal when a given sound is
heard
B) studies subconscious (3% & jH Y] )responses to noise
C) can be performed by any adult
D) is in use nationwide
32. According to the passage, the testing team at the University of
Iowa is the first to
A) develop a method to test hearing by way of the brain
B) determine the extent of brain damage in hearing-im-
paired persons
10



C) observe the reaction of the brain to a laboratory-con-
trolled noise
D )study all the parts of brainwave responses at the same
time
33. It can be inferred form the passage that electric response au-
diometry would be especially recommended for
A) a three-year-old girl who has an earache
B) an old man who cups his ear to hear
C) a young child who does not talk
D) a rock musician who plays the drums
34. Which of the following is the primary value of the University
of Iowa hearing test?
A) It will reduce misdiagnoses of hard-to-test patients.
B) It will lead to a cure for congenital (¢ XK (1] )deafness.
C) It will eventually make other means of testing hearing
obsolete (JEITAY).
D)It will win a Nobel Prize for outstanding achievement in
the fieldot=Hiédtcmme.
35. The paragrarfp ZpI¥vihe Yhisor& Weulll nrogf likely deal with

A) why sofhe piiBle ehn Bear tFfterfthan $hers

B) what cafl_be.done tachetp=tieTrearing impaired (27 35 1
1)

C) how this new auditory test is conducted

D) which hearing problems are the most severe



Qrestions 36 to 40 are based on the following passage .

The greatest recent social changes have been in the lives of
women. During the twentieth century there has been a remarkable
shortening of the proportion of a woman's life spent in caring for
children. A woman marrying at the end of the nineteenth century
would probably have been in her middle twenties, and would be
likely to have seven or eight children, of whom four or five lived
till they were five years old. By the time the youngest was fifteen,
the mother would have been in her early fifties and would expect
to live a further twenty years, during which custom, opportunity
and health made it unusual for her to get paid work. Today wom-
en marry younger and have fewer children. Usually a weman's
youngest child will be fifteen when she is forty-five and can be ex-
pected to live another thirty-five years and is likely to take paid
work until retirement at sixty . Even while she has the care of chil-
dren, her work is lightened by household appliances and conve-
nience foods.

This important change in women's life-pattern has only re-
cently begun to have its full effect on women's,'ec;onouiic position.
Even a few years ago m.ost girls left school at the first opportuni-
ty, and most of them took a full-time job.’ However, when they
married, they usﬁally left work at once apd never returned to it.
Today the school-leaving age is sixteen, many girls stay at school
after that age, and though women tend to marry younger, more
married women stay at work at least until shortly before their first
child is born. Very many more afterwards return to full- or part-
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